

### 23.7 Derivative of a Power of a Function

$$y = \frac{1}{x^2} = x^{-2}$$

$$\frac{dy}{dx} = -2x^{-2-1} = -2x^{-3}$$

$$= \boxed{\frac{-2}{x^3}}$$

$$y = \sqrt[3]{x} = x^{\frac{1}{3}}$$

$$\frac{dy}{dx} = \frac{1}{3} x^{\frac{1}{3}-1} = \frac{1}{3} x^{\frac{1}{3}-\frac{3}{3}}$$

$$= \frac{1}{3} x^{-\frac{2}{3}}$$

or  $\frac{1}{3 x^{\frac{2}{3}}}$  or  $\frac{1}{3 \sqrt[3]{x^2}}$

$$y = \frac{1}{x} + \sqrt{x} + \sqrt{2} = x^{-1} + x^{\frac{1}{2}} + \sqrt{2}$$

$$y' = -1x^{-1-1} + \frac{1}{2} x^{\frac{1}{2}-1} + 0 = -1x^{-2} + \frac{1}{2} x^{-\frac{1}{2}}$$
$$= -\frac{1}{x^2} + \frac{1}{2\sqrt{x}}$$

$$y = \frac{4}{x^3} + 6\sqrt[3]{x^4} = 4x^{-3} + 6x^{\frac{4}{3}}$$

$$y' = 4(-3x^{-3-1}) + \cancel{6} \left( \frac{4}{\cancel{3}} x^{\frac{4}{3}-1} \right) = -12x^{-4} + 8x^{\frac{1}{3}}$$
$$= \frac{-12}{x^4} + 8\sqrt[3]{x}$$

General Power Rule [Chain Rule]

$$f(x) = [u(x)]^h$$

$$f'(x) = h[u(x)]^{h-1} u'(x)$$

$$y = (x^3+2)^4$$

$$y' = 4(x^3+2)^{4-1} (x^3+2)'$$
$$= 4(x^3+2)^3 (3x^2)$$
$$= \boxed{12x^2 (x^3+2)^3}$$

p. 679

$$(16) y = 3(8x^2 - 1)^6$$

$$y' = 3 \cdot 6(8x^2 - 1)^5 (8x^2 - 1)' = 18(8x^2 - 1)^5 (16x) = \boxed{288x(8x^2 - 1)^5}$$

$$(24) y = \sqrt[3]{4x^6 + 2} = (4x^6 + 2)^{1/3}$$

$$y' = \frac{1}{3}(4x^6 + 2)^{1/3 - 1} (4x^6 + 2)' = \frac{1}{3}(4x^6 + 2)^{-2/3} (24x^5)$$
$$= 8x^5(4x^6 + 2)^{-2/3} \text{ or } \frac{8x^5}{(4x^6 + 2)^{2/3}}$$

$$(20) y = \frac{\pi^3}{\sqrt{1-3x}} = \pi^3(1-3x)^{-1/2}$$

$$(26) y = x^2 (1-3x)^5 (1-3x)'$$

$$y' = x^2 \cdot 5 \cdot (1-3x)^4 \cdot (-3) + (1-3x)^5 (2x)$$

$$= -15x^2(1-3x)^4 + 2x(1-3x)^5$$

p. 679-680: 7, 9, 13, 15, 19, 23, 27, 33

Do Not  
Simplify